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Q.No: 1 Calcium sulphate hemihydrate is another name of:

2786367
Hickra Fethe BHITTESE THST GO AW §
Plaster of Paris
A
R 3% Ui
Washing Soda
B
YaTS BT e
Baking Soda
C
fFT et
Bleaching Soda
D

e gof
Correct Ans : A

Subject : Domain Technical

Q.No: 2 Synthetic detergents are classified into how many categories?

2786368
AT SUATSIR! B e ot § &ier AT B2
2
A
2
3
B
3
4
C
4
5
D
5

Correct Ans : B

Subject : Domain Technical

Q.No: 3 "Which of the following statement is false regarding the formation of bonds between oxygen atoms?
2786369
1. We see the formation of a double bond between two oxygen atoms

2. This is because an atom of oxygen has four electrons in its L shell (the atomic number of oxygen is eight) and it requires four more electrons to complete its octet."

"fferfie RETUSH & dtg et & fmfor & Tey & Fufifed B ¥ S 9 FuF o 82
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1. 80 Q) aiferdier TRATSR ¥ o fyey &1 Fifo 3w §
2. U Sufom B ife Siferiior & Ueh TRATY] & L I W IR 3AGS 81 o (SHRIISH Bl URHTY] GBAT 373 Bl ¥) 3R S (U 3ATF T B b T IR 3R goaer-l Bl azadhar git 81"

Only 1
A
Faa 1
Only 2
B
Fae 2
Neither 1 nor 2
C
@1 eiRTE 2
Both
D
gt

Correct Ans : B

Subject : Domain Technical

Q.No: 4 Out of the 118 elements known to us how many are naturally occurring?
2786370

B 19 118 Tl § ¥ fobaa Uipfas 0 ¥ U 91 82

20
A

20

94
B

94

a9
c

a9

22
D

22

Correct Ans : B

Subject : Domain Technical

Q.No: 5  Which type of colloid butter is?

2786421
e 59 UHR &1 Flass g7
Sol
A
e
Aerosol
B
wE
Foam
C
B
Gel
D
il

Correct Ans : D

Subject : Domain Technical
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Q.No: 6
2786422

What is the mass of a particle?

a BN BT SHH T BT 82
2u

2u

3u

3u

4u

4u

5u

5u

Correct Ans : C

Subject : Domain Technical

Q.No: 7
2786423

As per the Rutherford’s Model of an Atom

IEUBIE PT TRATY HSH B SHTIR-

Radius of the nucleus is about 102times less than the radius of the atom.

aArfaren et T AT T Brsar & 102 91 BIeT 31

Radius of the nucleus is about 103 times less than the radius of the atom.

arfares st T waATv] 1 Brsar & 109 7= BIeT 1

Radius of the nucleus is about 10% imes less than the radius of the atom.

aArfares 1 Fraar WaAT] 1 FHer & 104 1 SIET 8

Radius of the nucleus is about 107 times less than the radius of the atom.

=Arfaren <t T aRATeL T s 3 100 a1 BIeT 1

Correct Ans : D

Subject : Domain Technical

Q.No: 8
2786424

What is the valency of Lithium?

oy &) Tarer T 872
0
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2
Correct Ans : B

Subject : Domain Technical

Q.No: 9  Chlorine occurs in nature in two isotopic forms, with masses 35 u and 37 u in the ratio of

2786425

TP B AR & GRS FUl § Urar oI 8, e g H 35 u SR 37 u s F UK H g B

2:3
A

2:3

3:1
B

3:1

1:2
Cc

1:2

1:4
D

1:4

Correct Ans : B

Subject : Domain Technical

Q.No: 10 Why did Rutherford select gold foil for his experiment?
2786426

TREIS A ST WA F forg S B ool 1 e 7t femame

Because he wanted a thin layer as possible.

A
HifF I TYHT TF Ut TR 184 Al
Because he wanted a good conductor of electricity.
B
i 3 et &1 ue 3T I 91ed A1
Because he wanted the layer to be as pure as possible.
Cc
FifF T g A fF wa gYrEYT I B
Because he wanted the layer to be made of a heavy element.
D

FifF 95 918d A 5 Wa e WS 7@ & B
Correct Ans : A

Subject : Domain Technical

Q.No: 11 If an object moves 40 m toward north in 10 s and then 30 m eastward in next 10s, The average velocity of the object is -
2786493

I B a%g 10 Ihe H IW B 3R 40 Hiex 3R fFR 3T 10 I & 30 Hiex yd &1 iR Iadh g, o 9] &7 A I8 -

3 mst

-1

w
3
(2]

B 2.5 ms™t
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2.5ms™

2 mst
C

2 mst

1.5:ms"
D

1.5 ms™

Correct Ans : B

Subject : Domain Technical

QNo: 12 - A byllet of mass 0.05 kg is fired with a velocity of 150 ms* from a rifle of mass 2 kg. What

2786494
will be the recoil velocity of the rifle?
Teh el TSIt edd = 0.05ke & 53U 150 ms? 491  dege ¥ GHN T §| degd I Gedalla 2 ke
T & UfHarT 4w ¥ -
2.25 ms?!
A
2.25 ms?!
3.00 ms!
B
3.00 ms'!
3.75 ms!
C
3.75 ms’!
4.25 ms!
D
4.25 ms!

Correct Ans : C

Subject : Domain Technical

Q.No: 13 When light meets a surface separating 2 transparent media,
2786495

Choose the correct code:

1. Reflection occurs

2. Refraction occurs

O YT 2 URERH AT Y ST R el g & e, a9
@ IS T:

1. WEEH g §

2. 3{Oa BT @

1 only

Fad 1

2 only

Fad 2
C Both 1 and 2
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St 1 3R 2

Neither 1 nor 2

aJdar1eiRad2

Correct Ans : C

Subject : Domain Technical

Q.No: 14 Which of the following statements is/are true?
2786496
1. The focal length of a converging lens is positive
2. The power of a converging lens is negative

3. The power of a converging lens is positive

Frofafed & § $ 9/ $UF 99 3/8?
1. R A B BieY g 4ATHD Bt §
2. T AT @ e BoTES it ]
3. R W B & S Bl ¥

1 and 2 only
A
Fad 1 3R 2
1 and 3 only
B
Faa 1R 3
3 only
Cc
Faa 3
2 only
D
Fad 2

Correct Ans : B

Subject : Domain Technical

Q.No: 15 An average human being can hear sound of frequency up to:
2786497

TF 9d BIW @ B Saiy g 9% g G 3¢

30 kHz
A

30 kHz

20 kHz
B

20 kHz

35 kHz
C

35 kHz

40 kHz
D

40 kHz

Correct Ans : B

Subject : Domain Technical

Q.No: 16 The waves with the frequency above the audible range of human being are called
2786498
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g B ooy JT F Sifies gy areht v B gl oIl 31

Ultrasonic waves
A

TR T

Infrasonic waves
B

Sy T

Supersonic waves
C

e T

Hypersonic waves
D

faeafe T

Correct Ans : A

Subject : Domain Technical

Q.No: 17 While generating ocean thermal energy, which of the following types of liquids is boiled by the warm ocean water?
2786559

TERTRIY ATy S Sad xd I9y, Ay § 3 59 geR & &Ra &) T g & ar ¥ ST Sar 8?2

Volatile liquid

A
areqfiel Rl
Non-volatile liquid
B
R-arorie awa
Acidic liquid
C
Bk
Basic liquid
D
&R A

Correct Ans : A

Subject : Domain Technical

Q.No: 18 "Which of the following is NOT an advantage of nuclear energy?

2786560
1. No waste gases are produces when electricity is produced out of nuclear sources.
2. There is no scope of leakage of harmful radiations.

Choose the correct code:

FrafeiEd & d B I WA SHelf BT oy TE 87
1. 919 TRATY] Wi § fetelt 1 Iere foran S § @ B Srufiy A Iaw A8 g 7
2. sFeRe el & Rara @t 313 oSy T8 8

g BIS I "
Only 1
A
Faa 1
Only 2
B
Fad 2

c Both 1 and 2


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addacy47 Eoogle Play

St 1 3R 2

Neither 1 nor 2

Ad1dRAH2
Correct Ans : B

Subject : Domain Technical

Q.No: 19  Which of the following statements is NOT correct regarding generation of wind power?
2786561

g it IadreA & oy # Fufifed & ¥ o1 a1 vy 9d) T8 82

The turbine converts mechanical energy into electrical energy.

A
TS TP Sl Bt figga Sut § uRafia sar
The blades of the windmill are angled into the wind.
B
T T9H! & S §aT A HIU A 7
In older windmills, wind energy was used to run machinery to do physical work, like crushing grain or pumping water.
Cc
R e afenal §, 9o Seil BT STGHT AT B T $ Rie fear S o1, 9 3 B $Ea a1 uHt U $ F R
The wind speed is vital in the production of electricity.
D

farelt & Saure & gar #1 iy wgeagef 21

Correct Ans : A

Subject : Domain Technical

Q.No: 20 "How can biomass be used as a source of energy?
2786562

1. by burning dry biomass

2. by decomposition of biomass in the absence of oxygen

Choose the correct code:"

"SAHR B Foll & Hd P TY B HY IYUNT a1 o ThaT 8?2
1. Y S9UR & A gg A
2. Sfffior B U & SaUR & 3Tee gRI

gt B A"
Only 1
A
Fad 1
Only 2
B
Fad 2
Both 1 and 2
[
Bl 1 8k 2
Neither 1 nor 2
D

AA1RTH2

Correct Ans : C

Subject : Domain Technical

Q.No: 21 HRC fuse provides best protection against
2786636
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HRC WIS fhe & fovg 30 TR0 Ja v &2

Open circuit

A
ga uiuy
Overload
B
fIHR
Reverse current
C
faofta ur
Short circuit
D

gy
Correct Ans : D

Subject : Domain Technical

Q.No: 22 The intermediate frequency used in commercial Medium Wave Super Heterodyne receiver is-
2786655

IS A T I YR FeRISTe RS # wanT Bt S aret Aeadf smafy ot gt 32

455 kHz
A

455 kHz

10.7 MHz
B

10.7 MHz

38.9 MHz
C

38.9 MHz

1450 kHz
D

1450 kHz

Correct Ans : A

Subject : Domain Technical

Q.No: 23 What is the full form of USB?
2786674

USB &1 quf &7 &1 372

Universal Storage Byte

A
g ©R a5e
Universal Serial Bus
B
e Wifvaa sq
Unique Storage Bus
C
e TR 99
Unique Serial Bit
D

Tt diftaw fie

Correct Ans : B

Subject : Domain Technical
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Q.No: 24 Which of the following oscillator will give most stable output oscillation frequency?
2786687

FEfied # ¥ $H-I1 Sae T8 s G MSeye alad Sy 3m?

Colpitts oscillator

A
Frafies s
Hartley oscillator
B
FTESH A
Crystal oscillator
C
forea e
RC phase shift oscillator
D

RC ¥ R1ve gias

Correct Ans : C

Subject : Domain Technical

Q.No: 25 Which among the following is/are software layer/s of OSI model?
2786691

Fgfifad # ¥ SH-91 0SI Aisd &7 I TedlR AW 8/8?

Presentation Layer

A

WA FW

Network Layer
B

Fead AW

Transport Layer
C

g AaR

Data Link Layer
D

31eT i R
Correct Ans : A

Subject : Domain Technical

Q.No: 26 What is the function of Ctrl + F9 in MS-Excel?
2786708

MS-Excel ® Ctrl+F9 &1 31 1 gidl 87

Minimize the workbook window

A
qHgs TSt B BleT BT
Calculate active worksheets
B
Tfeea ahfie FT 0T FAT
Switch to Print Preview
c

fife ey # Ram &=

D Insert a new worksheet
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T 7§ qHRite STaAr

Correct Ans : A

Subject : Domain Technical

Q.No: 27 In MS Office Word, Envelops and Labels buttons keys are placed in the Create group of which Tab?
2786709

MS Office Word H TT3TW 3R TS Se7 B (keys) i fhue I0 & frg o9 # a1 ofram 872

References Tab

A
YH¥A 9
Mailings Tab
B
fFE
Review Tab
C
frag 29
Standard Tab
D

Red A
Correct Ans : B

Subject : Domain Technical

Q.No: 28 The display of our mobile phone changes to vertical or horizontal with respect to the way we hold our mobile. Which of the following sensors make it possible?
2787459

9 TRe T gH 3T HEZd BH &l Uhsd 8, 395 Ya¢ A gAR Aemd BH &1 {8 dedd a1 s (afdea a1 gieiea) & o widr 81 Fefif@d # ¥ o a1 IR 38 Gyd ST 22

Accelerometer only

A
Haa TR
Gyroscope only
B
Faa TS
Both Accelerometer and Gyroscope
C
TR 3R STEReptd gt
Neither Accelerometer nor Gyroscope
D

=t TeReRIHeR 3R | g SEwe

Correct Ans : C

Subject : Domain Technical

Q.No: 29 Frederick B. Cohen or Fred Cohen is best known for his work on

2787460
HER® at. B a1 s Bigd Bl F FR b B F N Ja 3ifiip ST o1l 21
Ethernet

A
FuRAT

Operating systems

TR Rivew

C Computer Virus
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FEET A
Cloud Computing

TS Hofe

Correct Ans : C

Subject : Domain Technical

Q.No: 30 Which of the following is NOT a correct feature of Worm malware?
2787461

5 4 o B (aH) R B I8 fARvd T8 82

It incurs unexpected or damaging behaviour on an infected computer system

A
g TS Henitd Hue ReeH TR QTR a1 g eRS IaeR HIdl gl
It does not need a host program or software to insert its code into
B
T T Bis P ARG B & AT TP giee T 1 AHEIW B Sraxgsar TE 2
A worm needs human-triggering to replicate and then spread to other computers through the network.
C
TP P (a) F M F T AFT-SERS F STa=gHar gl 2 R R Aead & Arenw F o Fogedt A Far o 1
Sobig, Code Red are prominent examples of Worm
D

|, Brs Y o (a+) S wrE S €
Correct Ans : C

Subject : Domain Technical

Q.No: 31 Which of the following is a type of hacktivism?
2787462

1. Doxing

2. Website defacement

3. Website mirroring

4. Geo-bombing

5. Tagging

6. Advertisements

Choose the correct code

Foffed # § S 1 3%-uikaanare (el o1 1@ TR 32
1. SR

2. IeTSE U (JaaTEe SihaHc)

3. Jese fIRf

4, for-sfe

5. 2fir

6. fasoet

T B BT T B -

Only1,2,3and5

Paa1,2,33R5
Only 4,5 and 6

a4, 53 6

[of Only 1,2,3and 4
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Fad 1, 2,334

Only 2, 4 and 6

a2, 436

Correct Ans : C

Subject : Domain Technical

Q.No: 32 As per IT Act 2000, which of the following is not functions of controller of certifying authorities?
2787486

IEA ST 2000 F SUR, Fufiad & I H vaUA witrsRol & s & o T8 82

Exercising supervision over the activities of the Certifying Authorities

A
WUl WAl & frareardl @1 widarr seAr
Certifying public keys of the Certifying Authorities
B
TG WAl Y de SRt Bt yEifde s
Laying down the standards to be maintained by the Certifying Authorities
Cc
c. VU Al MR GRT 9910 ¥@ 919 a1t A S ia Sver
Follow the conditions subject to which the Certifying Authorities shall conduct their business that are specified by cyber cell
D

3R Ad gR1 Y 26t a1 ured HeA1 R i wHor Wit 3raeT saawT Heiferd S

Correct Ans : D

Subject : Domain Technical

Q.No: 33 Which section of the Information Technology Act, 2000 provides for the Punishment for publishing or transmitting obscene material in electronic form?
2787487

T Wt oififiem, 2000 H1 6 4RT H srwefie AR B ARG T H YRIRG S T YHRG B & ¢ &S BT YALH 82

64
A

64

67
B

67

71
c

71

76
D

76

Correct Ans : B

Subject : Domain Technical

Q.No: 34 As per IT act 2000, fees of application to the Certifying Authority for the issue of an Electronic Signature Certificate shall not be exceeding as may be
2787488 prescribed by the Central Government.

3Tt ifIfTEm 2000 & AR sAS fage Aiefhee IRt HA & fow aiéfree SR HI oM &t vy I it T gl S fp P R g1 Fafia fsar o1 wewar 71
Rs.2,000

2000 T
B Rs.5,000


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal2y7 Eoogle Play

5000 ¥U¢

Rs.10,000
C

10,000 ¥UT

Rs.25,000
D

25,000 ¥Ug

Correct Ans : D

Subject : Domain Technical

Q.No: 35 As per IT act 2000, Digital Signature Certificate shall not be suspended for a period exceeding
2787489 nheard in the matter

days unless the subscriber has been given an opportunity of being

IS ST 2000 F SUR, PN s vELT a7 9 aiftr & forw ae @ i 6T fvan ST S o &) IUaNTEdl &) I fawg R g S BT SawR A fear mar g
10

10
15

15
25

25

35

35
Correct Ans : B

Subject : Domain Technical

Q.No: 36 As per IT act 2000, a subscriber shall be deemed to have accepted a Digital Signature Certificate if he publishes or authorises the publication of a Digital Signature
2787490 Certificate—

1.to not more than one person

2. in a repository, or otherwise demonstrates his approval of the Digital Signature Certificate in any manner

SMES SHfAEH 2000 F SFUR, R SuETHAT F IR H T THT SN B I B fEw TANG WHR R R/ § afg 98 S g THIoTE $ USRI HRa 8-
1. 3frepaw T safd & fg
2. feforea RErR féfthdre & oo erfie &) ROt &, a1 st fondlt oft ke & vefikfd F=ar

Only 1
A

Fad 1

Only 2
B

Faa 2

Both 1 and 2
C

1 3R 2 g

Neither 1 nor 2
D

a1 eiRad2

Correct Ans : B

Subject : Domain Technical
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Q.No: 37 Which of the following sections of the Information Technology Act, 2000 is related to the penalty and compensation for damage to computer, computer system, etc.?
2787491

e At siftfam, 2000 B FEfif@d § 4 S W@ URT HueR, e Ried 3N &) gu JHuH B AR iR ufdse § Faftd 82

a3
A

a3

as
B

as

48
C

ag

a9
D

a9

Correct Ans : A

Subject : Domain Technical

Q.No: 38 For a PAN (Personal Area Network), the devices need to be connected within a maximum range of about -

2787515

9 (i o Aead) F o, S @ Bt Sifpan W & iR Fae D P HMaLTH 8-

10 meters
A

10 #ex

25 meters
B

25 #iex

35 meters
C

35 Hiex

50 meters
D

50 Hiex

Correct Ans : A

Subject : Domain Technical

Q.No: 39 Which of the following is a collection of networking standards that cover the physical and data-link layer specifications for technologies such as Ethernet and wireless?
2787516

Frafifed & 9§ $1 9 TealsT 7@ 1 TP I8 § S $uRAe SR drRed St et & R Wifve ofk Sa-ffe wa el o wftifa s 82

IEEE 802
A
3ms.€.5.5. 802 (IEEE 802)
ICS 701
B
3s.3t.wH. 701 (ICS 701)
NETEE 601
c

w1.5.8.8.5. 601 (NETEE 601)
D EEE 804
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$.5.%. 804 (EEE 804)
Correct Ans : A

Subject : Domain Technical

Q.No: 40  Which of the following is also known as the ‘Ethernet Card’?
2787517

Fofafed & ¥ P8 Suxe &1 & T8 ¥ ot S o 22

Modem
A

HsH

Network Interface Card
B

ATTd B BS

Memory Card
C

T B

LAN Connection Card
D

A AR DTS

Correct Ans : B

Subject : Domain Technical

Q.No: 41 What is the name of the cable that is fundamentally utilized to connect devices like computers, printers, network storage devices, DSL modems, over an Ethernet
2787518 (onnection?

TURAT FARA R FER, e, Jead wWRe fEary, Srawa Aiey S8 Il B Siga & T 9 ¥ § ITarT 3t 5 aredt Saa &1 4 o191 32

R3J-30
A
3R.9. -30 (RI-30)
Cable-35
B
F9d -35
RJ-45
c
3RS, -45 (RI-45)
Cable-60
D
F9a -60

Correct Ans : C

Subject : Domain Technical

Q.No: 42 In which year did Ethernet technology first come into being?

2787519
FRAT aH1% U SR e aff et & ong?
1956

A
1956
1962

B
1962

C 1969
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1969

1973

1973
Correct Ans : D

Subject : Domain Technical

Q.No: 43 Which of the following can be included in Enterprise Networks?
2787520

1. Internet of Things

2. Hybrid clouds

3. WANs

Choose the correct code -

o & o Ueriew Aead & it fhar S e 82
1. §eXC 3 vy

2. TS HASS

3. SELUTE. (WAN)

et T g -

Only 1 and 2

Faa 1 3R 2
Only 2 and 3

Faq 2 3R 3

Only 1 and 3

Fada 1 3R 3

1,2and 3

1,23k 3

Correct Ans : D

Subject : Domain Technical

Q.No: 44 The arrangement of computers and other peripherals in a network is called its:
2787541

T Acad H HEER 3R 37 G IUBIUT B AT Bl el Sal 8-

Networking

A

Aeafda

Routing
B

SfeT

Topology
C

ELISIE]

Server
D

R

Correct Ans : C

Subject : Domain Technical
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Q.No: 45 Which network topology requires a central controller or hub?
2787542

&g Yead Adiarst & 1Y Joa Seler a1 89 B ALl gt 82

Ring
A

il

Bus
B

™

Hybrid
C

HEHES

Star
D

®R

Correct Ans : D

Subject : Domain Technical

Q.No: 46 In which type of network topology, data transmitted from source first reaches the centralised device and from there the data passes through every branch where each
2787543 pranch can have links for more nodes?

59 TR & Aead diars ¥, S I DT ST Ugd Fefipd Saey do UgTdr 7 SR J81 ¥ T TAH T I G ToRdT & Wl U I H Sifiie gy & i e 8 g 82

Ring
A
far
Bus
B
™
Hybrid
C
HEES
Star
D
R

Correct Ans : C

Subject : Domain Technical

Q.No: 47 If a hacker uses its knowledge to find and help in fixing the security flaws in the system, its termed as:
2787544

Ife FIE FHR ST T T IuINT Rvew § Qe | &) Gom SR e 7 & Aeg H & AU Fva1 &, @ 59 &gl ol &

Grey Hat hacker

A

AT

White Hat hacker
B

arge 3 FHR

Black Hat hacker
C

=P T FBX

D Green Hat hacker
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o e FIR

Correct Ans : B

Subject : Domain Technical

Q.No: 48 Which of the following is the similar term in magnetic circuit for “conductance” in electrical circuit?
2788488

faqad aRkoy & rare & forg geeta Ry & Fefifed & & $iH-w1 90 e 37

Permeance
A

ufefrdie

Reluctance
B

[RGES]

Susceptance
C

"

Reluctivity
D

Reasdifedt

Correct Ans : A

Subject : Domain Technical

Q.No: 49 In which of the following device the air capacitors are used?
2788489

Fofafed & ¥ b Iuemeor # TR HURiex &1 IuanT fhar Siar 82

TV tuner
A

adt R

Mica capacitors
B

ATEHT FURER

Radio receiver
C

e fefier

Loudspeaker
D

ASsHIeR

Correct Ans : C

Subject : Domain Technical

Q.No: 50 What will happen, if the polarized electrolytic capacitor is reversely connected?
2788490

g ydipd saacIamsics WA H faudd FU § ST o @t &1 grm?

Explode due to excessive heat

srcaftre T ¥ sRU el @ wrar

There will be no current in the circuit

wfe # B Fie T8 e
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Value of capacitance will be increased

1T ST A 9 I

No effect on the capacitor

TR R BIg gUTT T
Correct Ans : A

Subject : Domain Technical

Q.No: 51 What is the effect of the electrolytic capacitor, if open circuit fault occurs?
2788491

T S Withe Biee BT 7, O SATCIARCH HURICY BT 3T YHTE Bl 82

It will burst at once

A
¥ U& IR H BT SIe
It will not function
B
Tg B T B
It will become strong
Cc
g AT g S
It will function very well
D

g IEA AW A HTH B

Correct Ans : B

Subject : Domain Technical

Q.No: 52 What is the purpose of phase sequence meter?

2788499

TROT S Tiex BT I 7T 82

To control the speed of 3 phase motor
A

3 ¥ Hiex @t wfy &t Frifa s

To indicate the incorrect phase sequence of 3 phase system
B

3 TR YoITelt & e TROT SIgHH B §Ad BT

To ensure the correct phase sequence of 3 phase system
C

3 TROT YoITelt T TE AROT SIeHH YA Hn

None of the given options
D

o U famed § | 1 T8
Correct Ans : C

Subject : Domain Technical

Q.No: 53 Which of the following electrical term is defined as the total opposition to current in AC parallel circuit?
2788500

Frofafad § 9 59 figgd Wss #1 AC THFIR Withe § URT & $ot a1y & wu & uRuiia fosar mar 2

Impedance

wferaTar
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Admittance

B
Tsfitw
Susceptance
C
GE
Resistance
D
ufeRty

Correct Ans : A

Subject : Domain Technical

Q.No: 54 Which of the following is the line voltage in 3 phase system if the phase voltage is 240V?
2788501

g =ROT diecsl 240V § A1 3 TROT yorredt & Fafifdd # § $1F-T1 a5 dieew 82

350 Volt
A

350 dice

280 Volt
B

280 dice

415 Volt
C

415 dice

430 Volt
D

430 e

Correct Ans : C

Subject : Domain Technical

Q.No: 55 Which quantity is rotating at a constant angular velocity?
2788502

R TIer AR § fopa ufvmmor &1 gof g &2

Phasor quantity

A
PR o
Scalar quantity
B
THER givATor
Vector quantity
C
e ufmor
None of the given options
D

R e e & @ o1 98
Correct Ans : A

Subject : Domain Technical

Q.No: 56 How the gas and liquified gases are classified?
2788503

19 3k R 17 B $A aiiepd fbar war 82
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Class A fire
A

T A s

Class C fire
B

FTE € Y

Class D fire
C

A D 3

Class B fire
D

I B 3ff

Correct Ans : B

Subject : Domain Technical

Q.No: 57 Which of the following is the shape of mandatory signs?

2788504
FfiEd & § Si-a1 afard Tl @1 PR 82
Rectangular

A
SAYATPR
Pentagon

B
LEEaL|
Circular

C
RICH
Triangular

D
Ecauie

Correct Ans : C

Subject : Domain Technical

Q.No: 58 Which of the following material contains eight electrons in valency layer?
2788514

Frafafea & I fow vard @ aved IRa & o6 3eeH il 87

Conductors
A
HEFRI
Insulators
B
AR
Semiconductors
C
IftssTR
None of the given options
D

T T fawedl A A B &
Correct Ans : B

Subject : Domain Technical
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Q.No: 59  Which of the following material is used as electrical insulator?
2788515

Frafifad & § b gl &1 Sudi faegd sgeex & & fbar S 82

Gallium
A

At

Aluminium
B

Tegifa

Germanium
C

S

Porcelain
D

LUREE]

Correct Ans : D

Subject : Domain Technical

Q.No: 60 Which of the following electrical parameter opposes the flow of electrons?
2788516

Frofafad & § $H-91 f9ggd RHieR sAaeH! & TaTg &1 3Ry Har 82

Resistance
A

R

Power
B

LG

Voltage
C

s

Watt
D

dqrc

Correct Ans : A

Subject : Domain Technical

Q.No: 61 Which cores are used in intermediate frequency transformers?
2788517

Tegadl SRy cRAmER # HH-Y R BT STANT T ST 82

Copper
A

dfar

Ferrite
B

e

Nickel
C

frea

Silver
D

R
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Correct Ans : B

Subject : Domain Technical

Q.No: 62 How the movement of electrons through a conductor in a particular direction is called?
2788518

it wreres & AT § el faw faxm & soati @) iy @1 3 Fed €2

Electric current

A
fagge ware
Resistance
B
IR
Semiconductors
C
Ffivewr
Force
D
CL)

Correct Ans : A

Subject : Domain Technical

Q.No: 63 Which of the following formula is used to find the conductance?
2788519

Fofied # ¥ g T &1 SuanT areemal J1d S=4 & o foar s 82

Q+V
A

Q+V

IxR
B

IxR

V-1
C

V-1

/v
D

/v

Correct Ans : D

Subject : Domain Technical

Q.No: 64 How batteries are classified?

2788528
Sefedl @ $ alepa e o 32
Dry cells
A
&t ¥
Primary cells and secondary cells
B
e I iR s da
Cylindrical cells
C

IJTATHR A
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Lithium cells

farfaw 3«

Correct Ans : B

Subject : Domain Technical

Q.No: 65 Which of the following type of battery is used for cellular phones?
2788529

IR BIF & foe ol & 3 59 ysR 3 98 &1 Iuan o w82

Ion - air
A

SIUT-TaR

Lithium ion
B

e sma

Silver zinc
C

e i

Sodium sulphur
D

AfEaw Tew

Correct Ans : B

Subject : Domain Technical

Q.No: 66 Which of the following material is used for negative terminal of alkaline manganese dioxide batteries?
2788530

&R Hrefier sreeifaurss Sedt & Aifeq cfifta & R Fofafed ¥ 9 5w gmeht &1 Suai far o 82

Lithium
A

s

Calcium
B

Ffexraw

Potassium
C

R

Zinc
D

ST

Correct Ans : D

Subject : Domain Technical

Q.No: 67 What is the total voltage of six 1.5 V cells, connected in series?

2788531
sRael & IS 8 1.5 V Il BT $of dlecol 1 82
2vbC

A
2 ikt
5 VDC

B

5 diERit


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addaizy7 Eooale Play

9 VDC
c

9 diSiH

15 VDC
D

15 dSHA

Correct Ans : C

Subject : Domain Technical

Q.No: 68 Which of the following is used by the browser to connect to the location of the Internet resources?
2790606

Zee T $ VM Y Pde B & 18 IoeR & g o § 4 31 IugnT fbar Sfrar 82

Linker
A

e

Protocol
B

Eicicac

Cable
C

P

URL
D

IR

Correct Ans : D

Subject : Domain Technical

Q.No: 69  Which of the following is not related to e-mail?

2790607
& 9 1 1 -7 9 Feifa T 82
BCC
A
diefreft
SPAM
B
w
Pen
C
o
Pine
D
s

Correct Ans : D

Subject : Domain Technical

Q.No: 70 If you magnify a you can see its individual pixels.
2790608

g 3y P AW I € O 3T 59F SfSRagera Newe 37 I B

vector graphic

AR Mipd
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bitmap
B
faedy
DXF
C
Bl
EMF
D
§TaTe

Correct Ans : B

Subject : Domain Technical

Q.No: 71 Which of following is basic data type?

2790611
9 A ¥ o1 IR sTe1 ey 87
Array
A
w
Character
B
R
Structure
C
YFER
Union
D
g

Correct Ans : B

Subject : Domain Technical

Q.No: 72 Which of the following is not a Modifier Key?
2790612

98 Q B W ANYD Bt (Modifier Key) Tel &2

Insert

A
F¢ (Insert)
Shift

B
fRire(shift)
Alt

C
3ifee(Alt)
Ctrl

D
Ctrl

Correct Ans : A

Subject : Domain Technical

Q.No: 73 1024 TB is called as .
2790613

1024 TB &1 HET Il 87
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1 KB
A

1 KB

1PB
B

1PB

1EB
C

1EB

1GB
D

1GB

Correct Ans : B

Subject : Domain Technical

Q.No: 74 SRAM retains data as long as power is provided to the memory chip and need not be refreshed periodically. What does 'S’ represents?
2790614

SRAM T¢I $ T d% SAIY 3@ § 9 g HART FIT &1 U1aR e 3 9t § iR 39 THT-990 W A6 H=A $ M1a=gswmdl Tat el 71 'S’ 37 S=ifar 82

Stagnant
A

RIME

Storage
B

wRe

Simple
C

Rivat

Static
D

wfew

Correct Ans : D

Subject : Domain Technical

Q.No: 75 Which of the following layer is responsible for converting electrical impulse to bit streams?
2790621

faqyga waTe & fare urislf # uRvafia s & fore e # 9 3 & wa meR &2

Presentation

A

iR

Physical
B

fpfora

Data link
C

st i

Network
D

Fead

Correct Ans : B

Subject : Domain Technical
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Q.No: 76 While working in mail we may came under the ‘BCC’, what does B represents?
2790622

A9 & BT HRd THY & 'bec’ F d8d M T 8, b 3T G-I 87

Blink
A

Blink

Black
B

Black

Blind
C

Blind

Broad
D

Broad

Correct Ans : C

Subject : Domain Technical

Q.No: 77 Deleted mails from the Inbox can be found in

2790623
TG AT MU AT P U of Gbdll §
Trash
A
Trash
Spam
B
Spam

Promotions

C
Promotions
All Mail

D
All Mail

Correct Ans : A

Subject : Domain Technical

Q.No: 78 What is the short cut to justify the paragraph?
2790624

3T Bl TEETd S P o wféred ot am 2

Ctrl + 1
A

Ctrl + 1

Ctrl +J
B

Ctrl +J

Ctrl + U
C

Ctrl + U

Ctrl + E
D

Ctrl + E
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Correct Ans : B

Subject : Domain Technical

Q.No: 79 ‘Chrome’isa______ software.
2790632
P TE Tgedw Bl
Operating System
A
SifrfeT Rivew
Application
B
TSI
System
C
Rreew
Utility
D
gfefadt

Correct Ans : B

Subject : Domain Technical

Q.No: 80 The RAM is located in which part of the computer system?

2790633
RAM HuIeR Ren & forg wmT & R ghar 872
Mother Board
A
RS
Expansion Board
B
R aE
Monitor
C
wifex
UPS
D
gftew

Correct Ans : A

Subject : Domain Technical

Q.No: 81 InanERmodel, ___ s described in the database by objects.
2790634
TF ER Hisa #, axgeli gRISeeud _ affa gl
Entity
A
Entity
Attribute
B
Attribute
Relationship
C

Relationship
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Notation

Notation
Correct Ans : A

Subject : Domain Technical

Q.No: 82 Excel files are also called by the name of

2790635
Excel files @ =\ ¥ +ff S S @
Workbook
A
Workbook
Worksheet
B
Worksheet
Spreadsheet
C
Spreadsheet

Spread book

Spread book
Correct Ans : A

Subject : Domain Technical

Q.No: 83 What does T stands for in T flip-flop?

2790636
T fOU T B T HEard g
Top
A Top
B Type
Type
c Toggle
Toggle
b Tickle
Tickle

Correct Ans : C

Subject : Domain Technical

Q.No: 84 One Gigabyte is equal to

2790637
T fmrerde &1 ol § -
1000 bytes
A
1000 §TEE
1000000 kilo bytes
B 1000000 ¥t s
1000000000 mega bytes
¢ 1000000000 W A
1000000000000 bytes
D

1000000000000 TS
Correct Ans : B

Subject : Domain Technical
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Q.No: 85 The percentage composition of copper and zinc in Brass is . (Approximately)
2790688
et 7 did SR ST F ufowid e 81 ()
30% copper + 70% zinc
A
30% dTaT + 70% RaT
65% copper + 35% zinc
B
65% TiaT + 35% ST
559% copper + 45% zinc
C
55% diaT + 45% ST
259% copper + 75% zinc
D

25% dial + 75% ST
Correct Ans : B

Subject : Domain Technical

Q.No: 86 The angle pairs in isometric drawing is of

2790689

Trftda Y § o gm 1 g 8l

30, 30 degrees
A

30, 30 f&3ft

20, 70 degrees
B

20, 70 f&H

75, 15 degrees
C

75, 15 f$3h

60, 90 degrees
D

60, 90 f&ft

Correct Ans : A

Subject : Domain Technical

Q.No: 87 A wire having area of cross section A = 20 sq meter is stretched by force of 10N, then find the stress in the wire?
2790690

TF TR TS ST FTc &% d A = 20 T Wex 8, 10N F a0 I Wiam oim 8, df aR H 19 J1d Pifor?

3.0 N'm?
A

3.0 N'm?

3.2 N/m?
B

32 N/m?
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0.5 N/m?
2.0 N'm?

2.0 N'm?

Correct Ans : C

Subject : Domain Technical

Q.No: 88 What will be the total resistance across terminals A and B?

2790691
*
50 [:i:i:]
20
B AN
4n
=i A SR B R o iRy e g
*
50 [:::i:]
20
B ANV
4n
8N
A
8N
15Q
B
15Q
10Q
c
10Q
5Q
D
5Q

Correct Ans : C

Subject : Domain Technical

Q.No: 89 What will the sum of two set of binary numbers 0011010 and 001100?

2790692
SR Temafl & & Ae 0011010 3R 001100 HT AT TN G2
100110
A
100110
00110
B
00110

C 1110110
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1110110
1110

1110
Correct Ans : A

Subject : Domain Technical

Q.No: 90 In a LCR circuit, the capacitor is made one fourth when in resonance. What should be changed in inductance so that circuit remains in resonance?
2790705

LCR uRuy &, TuIa oiTe § 1 W T ArdTE &1 oo a1 §1 IRea B o1 uRad faar S amfee arfes aiuy ofgre & &1 %92

4/3 times
A

4/3 T

1/4 times
B

1/4 T

10 times
C

10 AT

2 times
D

27T

Correct Ans : B

Subject : Domain Technical

Q.No: 91  Which one has property of malleability?

2790706
STHTA qefAigr 1 U1 s 82
Copper
A
PR
Zinc
B
ST

Copper and Zinc

c
PR AR AT
NacCl

D
LRSI

Correct Ans : C

Subject : Domain Technical

Q.No: 92 An actual machine require effort at zero load.
2790707
TP arEifde L B T WR W VO B} STl gl 8
3/4
A
3/4

B some
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PO
maximum
C
sfftrpan
10/9
D
10/9

Correct Ans : B

Subject : Domain Technical

Q.No: 93 Which thermocouple type is used for hottest environment?
2790724

TR T TR & Y 69 YBR BT YHieuw SUTIT AT Sl €2

Type A
A

UHPR A

Type P
B

TSR P

Type Z
C

TR Z

Type C
D

THR C

Correct Ans : D

Subject : Domain Technical

Q.No: 94 Find the capacity of the coffee cup in cubic cm which is in shape of a frustum having following dimensions?
2790725
8 em

14 cm

iR smarl ard f39® & 3MHR & HIM! BT DI U7 JUT T J1d HITOTL?

8cm

2956 cu cm

2956 T At

2825 cucm

2825 T 9t

2785 cu cm

2785 o 94t
D 2168 cu cm
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2168 T 9t
Correct Ans : D

Subject : Domain Technical

Q.No: 95 In manometer tube, if h= height of the mercury, Pgas=gas pressure and Patm=atmospheric pressure, then Pgas > Patm indicates:
2790726

Pra—
pvsare (Fns

e ogm # A h = UR B 18, Pgas = 19 &I T 3R Patm = AGHSHT ard, @ Pgas > Patm ST &1 &:

J—
povamare ()

Pgasx Patm x h

A
Pgasx Patm x h
Pgas = Patm * h
B
Pgas = Patm * h
Pgas= Patm + h
C
Pgas= Patm + h
Pgas=Patm / h
D

Pgas= Patm / h
Correct Ans : C

Subject : Domain Technical

Q.No: 96 Which type of conductors is used in overhead electrical transmission and distribution lines?
2790758

MRS faggd TR SR faaRor Are § b UHR F dedex BT JUTNT T ST 82

Standard conductors

A
AP HSIR
Insulated conductors
B
OIS FEFRR
Cable
C
Faa
Bare conductors
D

IR FEFR
Correct Ans : D

Subject : Domain Technical

GET IT ON

Google Play
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Q.No: 97 The conductors which consist of many strands of fine wire are called as

2790759
3 A1 R 7EH AR @ 3 afs B €, P €|
Cable
A
Faa
Twin core conductors
B
fes1 PR besaex
Stranded conductor
C
WSS HeFR
Multi-core cables
D

TRI-BR Faa
Correct Ans : C

Subject : Domain Technical

Q.No: 98 Which one of the following options is not the desirable characteristic of insulation?
2790760

Frofafad & 4 $9 1 fIdey SgoRM @f - R T8 82

Resistance to temperature

A
AT BT gfeRiy (Resistance to temperature)
Low dielectric strength

B
fewafde® WY (Low dielectric strength)
Flexibility

c
YA (Flexibility)
Non hydroscopic

D

R §IIBIAF (Non hydroscopic)

Correct Ans : B

Subject : Domain Technical

Q.No: 99 What is the name of an instrument used to measure the size of the wire?
2790761

AR & SMHR Bl AU dTet T BT T A 22

Standard wire gauge

A
S dR I
Multimeter
B
i
Ammeter
o
wHter

D Voltmeter

GET IT ON

Google Play
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deeiier

Correct Ans : A

Subject : Domain Technical

Q.No: 100 What does the symbol “L° represents in this figure?

2790762

To place vertically
A

dead I@ T

To place horizontally
B

st w7 & v

To place left
C

T IR 7@

To place the right side
D

et 3R v

Correct Ans : A

Subject : Domain Technical
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